
 

 

  



 

 

  = مساحة المستطيل 
 عرض X طول 

 
 
    طول

 عرض



 

 

  = مساحة المربع
  الضلع X الضلع 

  
  الضلع   



 

 

  )الارتفاع X القاعدة( =مساحة المثلث
                                    2     

   
الارتفاع

 القاعدة القاعدة

الارتفاع



 

 

  )قطر صغير  Xقطر كبير  = ( مساحة المعين  
                                  2      

  قطر كبير   

 قطر صغير 



 

 

= مساحة متوازي أضلاع 
  الارتفاع Xالقاعدة 

   

  القاعدة

 ارتفاع 



 

 

   = الدائرة  مساحة
   X  πالشعاع   Xالشعاع 

 
  الشعاع



 

 

   = منحرفشبه  مساحة
  الارتفاع X) القاعدة الصغرى+  الكبرى القاعدة(

2  

 

  القاعدة الكبرى

 القاعدة الصغرى

الارتفاع 

القاعدة الصغرى

  القاعدة الكبرى

 الارتفاع 


